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Simplify:
. [4 + (—5)“14 + (—21)}
Tl =2-3 2 -8
7 7 7
[A] 30 [B] s [C] 30 [D] ——

5 [7 + (—6)} [20 + (—45)}
L -4-9 8§ — 2

5

25 25
[A] ) [B] - [C] T [D] ——

3

3 [4 + (—5)“18 + (—36)}
L-2-4 7 -3
9 9 3 3
[A] 5 [B] 2 [C] 2 [D] 2

A [7 + (—3)“18 + (—6)}
|l -6-2 6 -7

[A] -6 [B] 24 [C]12 [D] 6

s [8 + (—2)“40 + (—48)}
1 -5-6 9 — 8

48

[A] —% [B] — [C] -9 [D] -48

11

NAME:
p [5 + (—8)“49 + (—35)}
L-7-5 2 -4
21 7 7
[A] Y [B] 3 [C] -21 [D] 7

; [2 + (—7)“40 + (—35)}

-8 -7 5-2
5 50 25 5
[A] ry [B] 3 [C] 3 [D] By
3 |:8 + (—9):| |:72 + (—64):|
1 -9-38 3-8
8 8 8 16
[A] T [B] 25 [C] -3 [D] ry

9 [4 + (—2)“54 + (—27)}
L -6-3 5-4

[A] =36 [B] 6 [C] -6 [D] —18

0. [3 + (—4)“18 + (—54)}
~3-9 2 -3

[A] 3 [B] -6 [C] -12 [D] -3
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[1] C

2] A

3] C

[4] D

[5] B

[6] B

[71 A

[8] A

91 C

[10] A




